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BEKBIEFR1/2

T 7& EOA G| Al B4Rt EBEEHE
EIER m 30.2
+T t 1.0 1
PR3E T NREE m 6.7 7
HEREL TR NRAE (EHE) m 0.05 0.05
INRE Nyhik1LFE0.28m3(FEFE0.2m3)
TR EER TR EERYTAE) DIDE 25kmU T 8257 | m 6.6 7
i B2 AN TOUNIE m 6.6 7
HEAKT % 1.0 1
UEYRIE JIS A 5372 3%& 300A m 29.3 29
GJL—FU0&E(E LR
UBRMAES T-25%8% 300F) L=0.5m ' 3.0 3
av91)—kE (JIS A 5372
UBRMAEZS 3%& 300A) L=0.5m ' 55.0 55
FL v R EKHE[B600 X HE00 H 1.0 1
FIARERIL—FUT
EkmE T-25 600 x 600F1 ifi B ® 1.0 1
HEEIET * 1.0 1
TERAE BAERA (RC-40) t=195cm | nf 8.8 9
TERAE B4AERA (RC-40) t=30cm m 0.3 0.3
L [BERAE Y5ARH (C-20) t=20cm m 9.1 9
wREMHY
RPERIE P ARH (C-20) t=2cm m 15.9 16
=B BEQBHEAs(13) t=4cm | m 25.0 25
E3=R BEOZREAs(13F) t=3cm| mf 35.0 35
RERLWHT it 1.0 1
SRR -W=15¢cm
XEFHRE |BHIE AR -EERK =% 1.0 1
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BEKBIEF22

T 7& E A G| Al B4 | RAHE|BEHRE|RE &
MT % 1.0 1
SERRUIMT  |AshR 15ecmBLTF m 63.6 64
SHEERREERE  |AshR 10cmBLT m 26.8 27
SRR BAEAGERETE,
AsTRIEHE - AL 53 | 150m b FIDIDEE 11.5km Bl T BF |t 1.9 2lW=4 5t
W=30cm, t=3cm
INRERE A | UM TEA Bk - ST | = 1.0 1|A=10m
SRERIEEY BMET 10m3RH
EEYREEH [FIHE HEE IRXFE m 2.6 3
IUH)-h RS- 855 HEMEYThL
BB L (B ) |HEHFEA DIDE 95kmll T BIF| m 2.6 3[w=6.5t
RER T % 1.0 1

XBEET [RBFEZKEB AH 6.0 6
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PRYE
BT E S TR w5
T INMRIR V= 02 mx ( 156 + 137 ) + 08 = 6.7 m

#BRL

T8 MREGESE) |V = BEBERKY = 0.05 m

THEEK

INMRAE Nyhhe 1LFE0.28m3(FFEF50.2m3)
tpeEm EERvtasmom2senT a2l \/ = 6.7 - 005 = 09 = 6.6 m

Eih

BREIZANMTOMNIE|V = LEkY = 6.6 m
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FE R - 0 A i OE AR M=
UBMEIE

JISA 5372 3F8 300A L = 156 + 137 = 29.3 m
UBMEIES

JL—FUT&E(ELR

T-25%8%4 300/) L=05m|N = 293 m = 100 m/EfF = 3.0 #&
UBMEIES

a9 —kE (JIS A 5372

3%E 300MH) L=0.5m N = 55.0 &

T v AMEKH
B600 x H600 N = FEREKY = 1.0 &
fEkHE

FITSRRAIL—FT

T-25 600 X 6000 i B[N = EEEkY = 1.0 &
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INEE
UZAIE X
BAERARC-40)t=195cm| A = 03 x 293 = 8.8

INEE:

BERH(RC-40) t=30cm

15 5RKHXFE
A= 03 x 09

0.3

LB

fiEn  #en

PIARR(C-20) t+=20cm|A = 88 + 03 = 9.1
TREEIE
HEMHY ERpEs MIIER ®AnEn

YHARRA(C-20) t=2cm|] A = 05 x ( 08 + 302 + 08 ) = 15.9
xEI

HEQEHMEA(13) t=4cm| A = 08 x ( 05 + 302 + 05 ) = 25.0
xE I

BEOFHEA()+=3cm| A = 11 x ( 08 + 302 + 08 ) = 35.0
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w31 483 i ¥ B
B [ 4 55
SMAIR -W=15cm
AT A (bt - 3Rt — S (R AR T 400m3Z) 10 5

[SMEIHR 13248 -W=15¢cm
L = F@ERLY =@ 164 + @ 137 = 301 m
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21 - # A1 it B R M =E
BHIAA—TK
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31.2 l
o ANRBEH
u? 1 ﬂﬂmﬂwﬂﬂﬂﬂ@@E'Eﬂmmﬂ/Mﬂ% Q .
o Iﬁ S SRR No
R | — ] = ﬂ
= . e
= s
=+
0.3 (1) 0.3
0.5 30.2 0.5
SRR U] BT
(IXhEL) (2RKT)
AshR 15cmBLF L = 30.8 + 32.8 = 63.6 m
(IXRFETL)
03 + 302 + 03 = 30.8
(2XkHETL)
08 + 312 + 08 = 32.8
R _
Bi 3% SR A=z
AshR 10cmBLF A = 08 x ( 05 + 302 + 05 ) = 26.8 m
Asa%iE ik - 05
SRR BERAEERNRTE,
SEREsemTODE 115mu T REF| Y = 26.8 X 0.07 = 19 m
(BEE)
W= 19 x 235 = 45 t




i I EHEARE
FE R - 0 A i OE AR H 2
INRIRERE Y1
W=30cm. t=3cm
YIHIMTEA Bk - DS 1.0 XX
UhiEEEEmeE) A = ( 03 + 05 + 03 + 312 + 03
¥ HBIERET + 05 + 03 ) x 03 = 100 m
[LIBI# 8- 5 (1KTE) ]
ANAFEA-DID&E-L=89%m|V = 100 x 0.03 = 03 m
[LIBI#Efk- 0 (EE) ]
W = 03 x 235 = 07 t
BEMEUE (BfH)
SEHEY BEET 10m3KiE ©) ®
HE REE IEFE|V = 18 + 08 = 26 m
[BEE% A1) V = 1530 kg/m x 302 m = 1,000
©) = 25 t/m = 18 m
[BEE%Coz=] V = 370 kg/#x x 56.0 # = 1,000
? ~ 25 t/m = 08 m
(E=)
W= 26 X 250 t/m = 65 t
OB -5 (FER)
VY -MERRR - SRS EY ChL
HHETESA DIDEE 9.5kmiL T BV = FEo kY = 26 m




